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many of these countries and India on constitutes terrorism and who can be described as a terrorist.

India visualized
Options:

1) is not

2) was neither

3) did not

4) has not

Correct Answer: is not

Candidate Answer: has not

QID : 97 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Most countries of West Asia have their own security and strategic construct. India visualized — nor does India see itself — as a
"net provider of security” in the region and, consequently, India does not figure in these countries' security and strategic
plans. There are again limits to intelligence and counter-terrorism cooperation, as differences exist between
many of these countries and India on constitutes terrorism and who can be described as a terrorist.

India does not figure in these countries' security and strategic plans.

Options:

1) equivocally

2) vaguely

3) doubtfully

4) prominently
Correct Answer: prominently
Candidate Answer: vaguely

QID : 98 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Most countries of West Asia have their own security and strategic construct. India visualized — nor does India see itself — as a
"net provider of security” in the region and, consequently, India does not figure in these countries’ security and strategic
plans. There are again limits to intelligence and counter-terrorism cooperation, as differences exist between
many of these countries and India on constitutes terrorism and who can be described as a terrorist.

There are again limits to

Options:

1) certain

2) positive

3) convinced

4) sure

Correct Answer: certain

Candidate Answer: convinced

QID : 99 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Most countries of West Asia have their own security and strategic construct. India visualized — nor does India see itself — as a
"net provider of security” in the region and, consequently, India does not figure in these countries’ security and strategic
plans. There are again limits to intelligence and counter-terrorism cooperation, as differences exist between
many of these countries and India on constitutes terrorism and who can be described as a terrorist.

as differences exist

Options:

1) frivolous

2) trivial

3) serious

4) paltry

Correct Answer: serious
Candidate Answer: trivial

QID : 100 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Most countries of West Asia have their own security and strategic construct. India visualized — nor does India see itself — as a
"net provider of security” in the region and, consequently, India does not figure in these countries’ security and strategic
plans. There are again limits to intelligence and counter-terrorism cooperation, as differences exist between
many of these countries and India on constitutes terrorism and who can be described as a terrorist.

India on constitutes terrorism and who can be described as a terrorist.

Options:

1) who

2) whom
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3) what not
4) what

Correct Answer: what
Candidate Answer: whom
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